ITB No. 18-100950 TMENT OF PURCHASING AND CONTRACTING ITB Name PVC SEWER PIPES (Annual Contract w/2 Options to Renew) BID TABULATION

Bid Opening: 25, 2018@3:00 p.m.

Price Schedule Opening: May 29, 2018

Agent: Judi Moore

Company				FM SHELTO	ON	CORE & M	AIN	FORTILINE WATERWORKS		
ITEM	DESCRIPTION	Estimated # of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
1	6-Inch sewer pipe	20,000	L/F	\$1.35	\$27,000.00	\$2.70	\$54,000.00	\$2.37	\$47,414.22	
2	8-Inch sewer pipe	6000	L/F	\$2.74	\$16,440.00	\$4.82	\$25,920.00	\$4.56	\$27,387.36	
3	10-Inch sewer pipe	260	L/F	\$7.80	\$2,028.00	\$7.55	\$1,963.00	\$7.14	\$1,899.24	
4	12-Inch sewer pipe	260	L/F	\$11.20	\$2,912.00	\$10.85	\$2,828.00	\$10.26	\$2,729.16	
5	15-Inch sewer pipe	120	L/F	\$16.65	\$1,998.00	\$16.10	\$1,932.00	\$15.26	\$1,922.76	
6	18-Inch sewer pipe	120	L/F	\$24.67	\$2,960.40	\$24.38	\$2,925.60	\$24.80	\$3,124.80	
7	24-Inch sewer pipe	120	L/F	\$49.79	\$5,974.80	\$43.76	\$5,251.20	\$44.50	\$5,607.00	
8	Flexible Saddle Wye to fit 4-inch diameter or large PVC pipe with the following 4-inch inlet to fit SCH-R DOWN TO SDR-35	50	L/F	19.54	\$977.00	\$31.50	\$1,575.00	\$31.92	\$1,596.00	
9	Flexible Saddle Wye to fit 4-inch diameter or large PVC pipe with the following 6-inch inlet to fit SCH-R DOWN TO SDR-35	50	L/F	19.54	\$977.00	\$41.35	\$2,067.50	\$41.59	\$2,079.50	
10	4-inch x 4 inch Wye (45 degree) Schedule 40. DWV HX H	300	L/F	11.79	\$3,537.00	\$11.60	\$3,480.00	\$5.75	\$1,725.00	
11	4-inch x 22-1/2 inch degree bend Schedule 40. DWV, H x S	300	L/F	7.06	\$2,118.00	\$13.20	\$3,960.00	\$6.00	\$1,800.00	
12	4-inch x 45 degree band, Schedule 40, DWV, H x S	300	L/F	5.18	\$1,554.00	\$7.14	\$2,142.00	\$6.00	\$1,800.00	
13	4-inch x 90 degree bend, Schedule 40 DWV, H x S	300	L/F	7.14	\$2,142.00	\$12.48	\$3,744.00	\$7.75	\$2,325.00	

ITEM	DESCRIPTION	Estimated # of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
	Company			FM SHELT(ON	CORE & M	AIN	FORTILINE WATERWORK		
14	4-inch x 4-inch Fernco coupling – AC/SCHED 40	200	L/F	3.33	\$666.00	\$4.00	\$800.00	\$ 4.12	\$ 824.00	
1 15	4-inch x 4-inch Fernco coupling – PVC/Clay	700	L/F	3.33	\$2,331.00	\$3.90	\$2,730.00	\$ 3.82	\$ 2,674.00	
16	4-inch x 4-inch Fernco coupling-cast iron to plastic	700	L/F	3.33	\$2,331.00	\$3.90	\$2,730.00	\$ 3.48	\$ 2,436.00	
17	8-inch x 8-inch Fernco coupling – cast iron to plastic	1000	L/F	10.95	\$10,950.00	\$12.16	\$12,160.00	\$ 11.45	\$ 11,450.00	
1 12	8-inch x 8-inch Fernco coupling – cast iron to plastic	100	L/F	10.95	\$1,095.00	\$12.16	\$1,216.00	\$ 11.45	\$ 1,145.00	
19	10-inch x 10inch Fernco coupling – cast iron to plastic	100	L/F	14.85	\$1,485.00	\$18.26	\$1,826.00	\$ 17.19	\$ 1,719.00	
20	12-inch x 12-inch Fernco coupling - cast iron to plastic	100	L/F	17.73	\$1,773.00	\$21.25	\$2,125.00	\$ 20.06	\$ 2,006.00	
21	12-inch x 12-inch Fernco coupling – PVC/CONC	130	L/F	17.73	\$2,304.00	\$21.25	\$2,762.50	\$ 18.94	\$ 2,462.20	
	4-inch x 6 INCH Fernco coupling – PVC/CLAY	700	L/F	7.76	\$5,432.00	\$9.50	\$6,650.00	\$ 8.44	\$ 5,908.00	
23	6-inch x 4-INCH Fernco coupling – cast iron to plastic	700	L/F	7.76	\$5,432.00	\$9.50	\$6,650.00	\$ 8.26	\$ 5,782.00	
	6-inch x 4-inch Fernco coupling – PVC/CLAY	700	L/F	7.76	\$5,432.00	\$9.50	\$6,650.00	\$ 8.26	\$ 5,782.00	
	6 inch x 4 inch Fernco coupling – PVC/CLAY	700	L/F	7.76	\$5,432.00	\$9.50	\$6,650.00	\$ 8.26	\$ 5,782.00	
1 20	6-inch x 6 inch Fernco coupling – PVC/CONC	100	L/F	17.73	\$1,773.00	\$9.50	\$950.00	\$ 7.78	\$ 778.00	
<i>- 1</i>	8-inch x 8-inch Fernco coupling – PVC/CONC	1000	L/F	11.63	\$11,630.00	\$13.13	\$13,130.00	\$ 11.35	\$ 11,550.00	

ITEM	DESCRIPTION	Estimated # of Units	Unit of Measure	Unit Price	Total Price	Unit Price	nit Price Total Price		Total Price	
	Company			FM SHELT(ON	CORE & M	AIN	FORTILINE WATERWORKS		
28	8-inch x 8-inch Fernco coupling	400	L/F	10.95	\$4,380.00	\$14.00	\$5,600.00	\$11.68	\$4,672.00	
29	10-inch x 8 inch Fernco coupling – cast iron to plastic.	400	L/F	16.23	\$6,492.00	\$20.00	\$8,000.00	\$17.78	\$7,112.00	
30	10-inch x 10-inch Fernco coupling – PVC/CONC	100	L/F	14.85	\$1,485.00	\$18.26	\$1,826.00	\$16.60	\$1,660.00	
31	12-inch x 10-inch Fernco coupling- cast iron to plastic	100	L/F	19.18	\$1,918.00	\$23.60	\$2,360.00	\$21.45	\$2,145.00	
32	15-inch x 18-inch – cast iron to plastic	100	L/F	101.79	10,179.00	\$81.35	\$8,135.00	\$72.31	\$7,231.00	
33	PVC quickset concrete-Heavy duty; clear P-14quart container	5000	L/F	\$9.60	48,000.00	N/B	N/B	\$12.53	\$62,650.00	
34	6-inch PVC/Plastic (stoppers), Mfg., in Green Iowa	200	L/F	12.18	2,436.00	N/B	N/B	N/B	N/B	
35	Clean-out adapter, 6-inch PVC SDR 35, thread	2500	L/F	\$14.20	35,500.00	\$17.15	\$42,875.00	\$11.25	\$28,125.00	
36	Clean 0out plug, 6-inch PVC SDR 35,Thread	5000	L/F	9.19	45,950.00	\$11.15	\$55,750.00	\$7.25	\$36,250.00	
37	4-inch 22 degree bonds Schedule 40 plain and by hub	20000	L/F	7.25	145,000.00	\$13.20	\$264,000.00	\$4.72	\$94,400.00	
38	4-inch 22 degree bonds Schedule 40 plain and by hub	30	L/F	7.25	217.50	\$13.20	\$396.00	\$4.72	\$141.60	
39	4-inch 45 degree bends, Schedule 40 DWV, H x H	300	L/F	5.83	1,749.00	\$5.90	\$1,770.00	\$5.75	\$1,725.00	
40	4-inch 90 degree bends, Schedule 40 DWV. H x H	100	L/F	6.07	607.00	\$8.00	\$800.00	\$3.70	\$370.00	
41	4-inch adapter, female hub with plug threaded cleanout, Schedule 40	1200	L/F	5.97	7,164.00	\$8.80	\$10,560.00	\$5.68	\$6,816.00	

ITEM	DESCRIPTION	Estimated # of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
	Company			FM SHELTO	N	CORE & M	AIN	FORTILINE	WATERWORKS	
42	4inch combinations, long rafius Schedule 40	300	L/F	\$17.70	5,310.00	\$15.00	\$15.00 \$4,500.00		\$3,375.00	
43	4-inch coupling, Schedule 40	100	L/F	\$3.30	330.00	\$4.00	\$400.00	\$2.45	\$245.00	
44	Clean-out plug 4-inch threaded plastic	300	L/F	\$7.10	2,130.00	\$3.00	\$900.80	\$2.25	\$675.00	
45	Clean-out Plug, 4-inch threaded plastic	250	L/F	\$7.10	1,775.00	\$3.00	\$750.00	\$2.22	\$555.00	
46	Clamp, Hose, worn drive "swivel lock" stainless steel 300B and housing 5/146 inch head slotted screw, 9/16-inch- ban-width, rang 2-5/16-inch head slotted screw 9/16-inch – ban- width, range 2-5/16 in Wye, 6" xx 6" H x H PVC 12 inch.	20,000	L/F	4.67	\$93,400.00	N/B	N/B	N/B	N/B	
47	Wye, 6" x 6"x J PVC- SDR 35 Solvent Weld	1000	L/F	21.64	\$21,640.00	\$21.27	\$21,270.00	\$14.00	\$14,000.00	
48	Wye, 8" x 6"x J PVC- SDR 35 Solvent Weld	100	L/F	48.41	\$4,841.00	\$47.55	\$4,755.00	\$31.36	\$3,136.00	
49	Bend, 6" x 22-1/2 degree, H x WS	1000	L/F	15.67	\$15,670.00	\$15.50	\$15,500.00	\$10.79	\$10,790.00	
50	Bend, 6" x 90 degree. H x S PVC- SDR 35 Solvent Weld	1000	L/F	10.23	\$10,230.00	\$20.50	\$20,500.00	\$13.95	\$13,950.00	
51	Bend 6": x 90 degree, H x S PVC- SDR 35 Solvent Weld	100	L/F	10.23	\$1,023.00	\$20.50	\$2,050.00	\$13.95	\$1,395.00	
52	Tee, 8" x 6" H x H PVC=SDR 35 SOLVENT Weld	60	L/F	33.93	\$2,035.80	\$40.74	\$2,444.40	\$28.00	\$1,680.00	
53	Tee 8" x 8", H x H PVC- SDR 35 Solvent Weld	50	L/F	51.12	\$2,556.00	\$61.00	\$3,050.00	\$42.00	\$2,100.00	

ITEM	DESCRIPTION	Estimated # of Units	Unit of Measure	Unit Price		Total Price	Unit Price	Total P	rice	Unit Price	T	otal Price
	Company FM SHELTO						CORE & M	AIN		FORTILINE	WATE	RWORKS
TOTAL	(Note to Biddeer: Add line items 1 through 7 enter the amount)					59,313.20		\$	97,812.50		\$	90,084.54
TOTAL	(Note to Biddeer: Add line it	(Note to Biddeer: Add line items 8 through 53 enter the amount)						\$	562,189.40		\$	376,822.30

Witness:

Agent Signature:

,			